Scientist:_______________________________________
Compound Gear Ratio Worksheet:              


[image: image1.emf]
In Gear-trains with multiple gears the ratio will change from set to set. If there are two sets of gears on a given axis, both spin at the same RPM (rotations per minute). The ratio from gear set to gear set is calculated separately then multiplied together. 
Example:  A has 8 teeth; B has 36 teeth; B** has 8 teeth; C has 60
     RATIO from A:C                                        HOW MANY TIMES

1) A= 10; B=20; B**= 5;C=10
__________________   
If A turns one time, C will turn ____________.

2) A= 10; B=40; B**= 5; C=5   
__________________   
If A turns one time, C will turn ____________.

3) A= 36; B=12; B**= 36; C=3 
__________________   
If C turns one time, A will turn ____________.

5) A= 12; B=48; B**= 8; C=6 
__________________  
 If A turns one time, C will turn ____________.

6) Mary and Tim want to design a robot with a gear ratio of 2, using a 16 tooth Driven gear. They have 40, 24, 16, 14 and 8 tooth gears available. What gear should they choose as their driving gear? Explain/Solve.
7) Mary and Tim want to design a robot with as low a gear ratio as possible in order to reach the greatest speed. They have 40, 36, 24, 14, 12 and 8 tooth gears available. Which two gears should they choose? What would be the lowest ratio possible with these combinations? 

8) Mary and Tim want to design a robot with a gear ratio o f 2/3, using a 60 tooth driving gear. They have 10, 20, 40, and 90 tooth gears available. What gear should they choose as their Driven gear? 
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